Regressive Points (Olive Crest)

1.) The equation below relates degrees Celsius (C) to degrees Fahrenheit (F).
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What temperature Fahrenheit is equivalent to 
[image: image2.wmf] Celsius? 

2.) Rosalind purchased a sewing machine discounted 20%.  The original selling price of the machine was $340.  What is the sale price?

3.) There are 36 flowers in a bouquet.  Two-thirds of the flowers are roses.  One-fourth of the roses are red.  What percent of the bouquet is made up of red roses?

4.) Amy rollerblades at a rate of 12 km/h.  What is Amy’s rate in meters per second?

5.) Evaluate: 10 + 4(5 – 8)

6.) Diego’s math scores for his last four tests were 94, 87, 90 and 89.  What score does he need on the next test to average a score of 91?

7.) Maurice talked on the phone to two friends.  He talked to Sherry for a quarter of an hour, and to Gabriel for a third of an hour.  How much time did Maurice spend on the telephone?

8.) Hector can throw a ball 
[image: image3.wmf] feet.  Lee can throw the same ball 
[image: image4.wmf] feet.  How much father can Hector throw the ball than Lee?

9.) Sherry scored the following numbers of points in 5 dart games.

135, 88, 96, 144, 112 

What is the median of these numbers?

10.) What is the solution of the system of equations?


y = 3x – 5


y = 2x

Answers:

1.) 160

2.) $272

3.) 16 2/3%

4.) 3 1/3 m/s

5.) -2

6.) 95

7.) 7/12 or 35 min

8.) 2 4/15

9.) 112

10.) (5, 10)
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